1.

Z150] 40cm 1 A BF] A7} Q)

> g H]

> =e 3.4

o] HA ] =& Alof
H1] 125.6 cm P U TH HA 0 Bl 1]%4 2 w7

E92 AEo2 Yyt
125.6 + 40 = 3.14( Hl)




@® w¥Hz]Eo] 2em? ¥
@‘ﬂ'ﬂ%o] 3cemQl &

® 9771256 cmel &

~&B

@ #AE0] 25cmel

@ #]20]23cmQ ¢

A2 Fot 345 AFE AXDE
o},

® AE 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)

wjepd 9571 71 2 g OU,




A0l 1m ¢ ¢ ZeFo] =527t QFUTh o] 28 AE 5 v
=320, 2547 2240 A= 2 m Y7

@D 1m @ 5m ® 7.85m

®)15.7m ® 314m

=2HAE 5 U] 208w, 294 & Zo]9] 5 ui7F Hyth
wabA 1x3.14 x5 = 15.7(m) YUYtk




7bsh it 2 9] o] e, A 7kl WA Ee] dolsh ¢ kel A
2] Zojo] 2 Hlete, 9 7ke] Woli 4 Lhe] Wol ol B Hj U

=

o o] = @ 2] WAF2] o] x

@9 "ol) = |x2)x(_]|x2)x3.14
:D [[Ix4x314=(]x[ |x314)x4

o gol) =] |x[ |x3.14
E}EW @4 Hole @9 Holo 48yt




| 7

¥z o) Hol ] uh)

A

(

2 3] o))
6Xx6+2=18(cm?)

3

2z

H

Al
Aiy

(




